NAME: ______________

HSCI 202 Pathophysiology

Exam 2
March 25, 2013
For each question, choose the ONE best answer.  

1) Which of the following is a function of glucagon?

a) Suppress appetite

b) Stimulate glycogenolysis

c) Stimulate uptake of glucose into skeletal muscle cells

d) Suppress lipolysis

e) Stimulate protein synthesis

2) Which statement concerning diabetes is NOT correct?

a) both type 1 and type 2 diabetes involve hypoglycemia

b) type 1 is an autoimmune disease

c) obesity and sedentary lifestyle are risk factors for type 2, but not type 1 diabetes

d) HbA1c is a good measure of glycemic control in both type 1 and type 2 diabetes

e) chronic complications of diabetes affect both type 1 and type 2 diabetics
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3) What dysrhythmia is shown in the EKG above?

a) None, it’s a normal sinus rhythm

b) Ventricular tachycardia

c) Premature atrial contraction

d) Atrial fibrillation

e) Ventricular fibrillation

4) In the diagram on the right, which number corresponds to closing of the mitral valve?

a) 1

b) 2
c) 3

d) 4

e) 5

5) After birth, a patent ductus arteriosus would allow the inappropriate movement of blood from ____.

a) left atrium to right atrium

b) right atrium to left atrium

c) pulmonary artery to aorta

d) aorta to pulmonary artery

e) none of these

6) A 78 year old male patient undergoes an extensive cardiac examination.  Heart rate is 88 (beats per minute), blood pressures is 106/82 (mmHg), and echocardiography shows LVEDV = 64 (ml) and LVESV = 15 (ml).  Which of the following values is INCORRECT?

a) Stroke volume = 49 ml

b) Cardiac output = 3.2 L/minute

c) Ejection fraction = 77%
d) Mean arterial pressure = 90 mmHg

e) All of these values are correct

7) What is wrong with the patient in the question above?

a) LVEDV is lower than normal

b) Ejection fraction is lower than normal

c) Blood pressure is higher than normal

d) Cardiac output is greater than normal

e) There is no problem with the patient
8) Which of the following cardiac problems could explain the values above?

a) mitral valve stenosis

b) mitral valve regurgitation

c) aortic valve stenosis

d) patent ductus arteriosus
e) there is no problem
9) A patient has an arterial O2-saturation of 72% and Hbg is 13.5 g/dl.  What is the O2 content of the arterial blood?

a) 11.0 ml/dl

b) 13.0 ml/dl

c) 15.0 ml/dl

d) 17.0 ml/dl

e) 19.0 ml/dl

10) A 80-year-old female has been sleeping sitting up for the last 2 weeks. She states that she has trouble breathing when she lies down.  This condition is referred to as:

a) dyspnea on exertion.

b) orthopnea.

c) apnea.

d) tachypnea.

11) A patient has an adenocarcinoma of the lungs that is 3.4 mm long, and extends to the esophagus.  Ipsilateral mediastinal nodes are positive.  Which of the following is true regarding this tumor?

a) It is stage IIA

b) It is stage IIB

c) it is stage IIIA
d) it is stage IIIB
e) it is stage IV
12) Which of the following type of pleural effusion is most likely to result from congestive heart failure?

a) Transudative effusion

b) Exudative effusion

c) Hemothorax

d) Chylothorax

e) Empyema

For questions (13) – (14) choose the letter on the diagram below.  (BE is base excess)
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13) COPD B
14) Respiratory alkalosis secondary to ARDS E
15) A 60-year-old male is diagnosed with chronic renal failure. Which of the following lab values would be most consistent with this diagnosis?

a) Elevated plasma creatinine level

b) Decreased plasma potassium level

c) Metabolic alkalosis

d) Increased urea clearance

16) What is the estimated GFR in a 53 year old female whose ideal weight is 55 kg, and has a serum creatinine concentration of 3.3 mg/dl? (assume ideal body weight)

a) 120 ml/min

b) 92 ml/min

c) 68 ml/min

d) 33 ml/min

e) 20 ml/min
17) A 23 y/o female presents to the ED with general weakness and vomiting.  Her PMH includes IDDM.  ROS is positive for polyuria, and polydipsia.  Pt also reports dysuria that started 3 days prior.  Pt denies SOB or cough, chest pain, abdominal pain, bloating, and change in bowel habits.  Vitals include: Temp: 101.2, BP: 120/80, HR: 120, RR: 24, SpO2: 98% on RA.  She is AAOx3, but drowsy, lungs are CTAB, and heart sounds are normal with tachycardia.  Lab tests reveal: Na+: 149 mEq/L; K+: 3.2 mEq/L; HCO3-: 16 mEq/L; pH: 7.2; Anion gap: 18; plasma glucose: 455 mg/dL.  Urinalysis was positive for ketones, leukocyte esterase, nitrites, and WBCs.  Which of the following best explains the patient’s symptoms?

a) hyperosmolar hyperglycemic non-ketotic syndrome

b) chronic kidney failure

c) acute kidney failure

d) respiratory acidosis

e) diabetic ketoacidosis

18) An 82 year old male was brought to the ED after a syncopal (fainting) episode at his nursing facility. Assessment includes a hematoma above the left eye and the patient reports decreased urine output and blurry vision at times. Vitals include: BP 113/68, HR 118, RR 18, Temp 36.9, and SpO2 96% on room air.  Lab results included: Na+ 150, Cl- 112, serum osmolality 303, urine osmolality 1280, all other labs were within normal limits.  Orthostatic testing was as follows: supine (lying) BP 116/71 HR 97, sitting BP 102/64 HR 104, standing BP 82/48 HR 121.  Stress test and echocardiogram were unremarkable.  Which of the following best explains his orthostatic hypotension?

a) aortic valve stenosis

b) respiratory acidosis

c) myocardial infarction
d) dehydration

e) ADH deficiency
19) A 76 year old female presents with a chief complaint of shortness of breath, fatigue, and a 20 lbs weight gain over the last 6 weeks. Vitals include: BP 165/78, HR 118, RR 26, SpO2 94% on 3L NC, and Temp 36.9. Assessment consists of S1, S2, and S3 heart sounds, crackles bilaterally in bases of lungs, and 3+ pitting edema to bilateral upper and lower extremities.  X-ray showed cardiomegaly and fluid buildup in the lungs. CT was negative for PE.  Echocardiogram showed ventricular hypertrophy with an ejection fraction of 35%.  Which of the following best explains these findings?
a) congestive heart failure

b) pulmonary embolism

c) thyroid dysfunction 

d) COPD
e) myocardial infarction

20) A 56 year old male was admitted to the hospital with increased fatigue, weakness, loss of appetite with a 12lb weight loss, dry hackling cough, chest discomfort, and SOB with exertion.  The patient had been in and out of the hospital multiple times in the past 3 years with similar symptoms.  Pt had an occupational history of working in coal mines for 30 plus years.  ABG showed respiratory acidosis.  Pulmonary function testing showed FEV1 and FVC were significantly reduced, while the FEV1/FVC ratio was WNL.  Which of the following best explains these findings?

a) pneumonia

b) COPD

c) interstitial lung disease

d) congestive heart failure

e) asthma

21) A 52 yr old female was admitted into the MICU with sepsis. The patient slowly became increasing lethargic.  Vitals included: BP: 60/30, RR: 6, and HR: 55. Shortly afterwards, the patient lost her pulse and went into cardiopulmonary arrest. After approximately 30 minutes of resuscitation, the patient was intubated, started on vasopressors, and a pulse was established. The patient was stabilized. A few hours post arrest, the patient’s urine output started to decrease.  Subsequent labs showed: BUN: 34mg/dl, serum creatinine: 2.6mg/dl.  Urinalysis was positive for tubular cell casts, and red blood cells, urine sodium concentration was 50 mEq/L.  In addition, the patient developed edema around her legs and ankles. The period of severe hypotension most likely caused which of the following?

a) chronic kidney failure
b) pyelonephritis

c) nephrolithiasis

d) acute tubular necrosis

e) rapidly progressing glomerulonephritis

22) On the 11th postoperative day following a radical prostatectomy for adenocarcinoma of the prostate, a 70-year-old man is recovering uneventfully. He then ambulates to the bathroom, but upon returning to his bed he suddenly becomes extremely dyspneic and diaphoretic, with chest pain, palpitations, and a feeling of panic. Which of the following post-operative complications has he most likely developed?

a) Pulmonary edema

b) Pleural effusion

c) Atelectasis

d) Pulmonary embolism
e) Diffuse alveolar damage

23) A 72 year old male presents to the Emergency Department complaining of dyspnea, right sided upper chest pain and a non-productive cough for the past three weeks. He is also complaining of shortness of breath at rest and dyspnea on exertion for the past 2-3 months. He also mentions that he has started sleeping sitting up, because it’s more comfortable.  He denies nausea, vomiting, diarrhea, and fevers. His vital signs were as follows: Temp 35.9, HR 78, RR 28, BP 130/80, SaO2 95%, and 4/10 pain. Physical assessment revealed markedly diminished breath sounds on the right side to mid-lung. Dullness to percussion was also noted on the right side of the chest. The trachea appeared midline.  CMP and EKG are unremarkable.  What is the most likely cause of these symptoms?

a) pneumothorax

b) pulmonary embolism

c) COPD 

d) right sided pleural effusion

e) left sided pleural effusion

24) A 60-year-old man has a 90 pack year history of smoking. For the past 5 years, he has had a cough productive of copious amounts of mucoid sputum for months at a time. He has had episodes of pneumonia with Streptococcus pneumoniae and E. coli cultured. His last episode of pneumonia is complicated by septicemia and brain abscess and he dies. At autopsy, his bronchi microscopically demonstrate mucus gland hypertrophy. Which of the following conditions is most likely to explain his clinical course?

a) Squamous cell carcinoma

b) Congestive heart failure

c) Chronic bronchitis

d) Asthma

e) Emphysema

25) A 44-year-old woman was admitted to hospital because of weakness, anorexia, recurrent infections, bilateral leg edema, and breathlessness. Her plasma albumin concentration was 1.9 mg/dl and her urinary protein excretion was 10 g/24 h. Which of the following does this patient most likely have?

a) Nephritic syndrome

b) Nephrotic syndrome

c) Acute renal failure

d) Kidney stones

e) None of the above are likely in this patient
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